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Problem Set A

The crop yield of a hectare of land (10,000 square meters) depends on the amount of fertilizer
applied. The table below gives data about the amount of fertilizer applied (in hundreds of
kilograms per hectare) and the crop yield (in tons per hectare).

Fertilizer applied Crop yield
(hundreds of kg/hectare) (tons per hectare)
0 1
0.5 2
1 4
1.5 b6
2 7
2.5 7.5
3 7.7
3.5 7.8
4 7.85
4.5 7.88
5 7.9

A cubic regression is used to model this data.

a. ldentify the independent and dependent variable. Enter the data into your calculator.

indeptnd et amount of fevhiliuw afpl(M (in hundreds
d"’ngjﬁ/v\/l' Cvoy’ \/\’Qld ( tons pev !/m) of /V\ﬂ()

b. Find the cubic regression model where x is the amount of fertilizer applied and y is the
predicted crop yield.

2
9/ 0.065b0q 20900434 T4LE3IX +05+0S

c. What does the model predict will be the crop yield when 3500 kilograms of fertilizer
are applied?

«= 3.5 ‘3; 3.4F 7 fonS per hednrd

d. Calculate the residual for x = 3.5. Does the model give an overestimate or an

underestimate for the true crop yield when 3500 kilograms of fertilizer are applied?
Write a sentence to explain.

ackwal - predicted = 3.8 -3.9F2 = - 0.1F L +9nS/na
The wodel ovevesiimates e tue  Gop yield by 0-(F2
Ing when 390 kg of Fevkiney dve w\o(\fea{.
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Problem Set B

To study the relationship between a city’s size (in square miles) and a city’s population density
(number of people per square mile), data was collected for 15 randomly selected U.S. cities.
The data is shown in the table below. A scatterplot is also given.

City Size Population Density 30004,
(square miles) | (people per square mile) _2500] &
45 1500 e
70 800 20002
25 2000 g
1500/ o
120 500 s
80 900 1000} —— 4
200 400 ‘e .,
35 1200 * .
150 600 < - ——
0 50 100 150 200 250 300
%0 750 v City|Size
180 550
110 700
55 1000
40 1300
95 720
130 580

a. Explain why a logarithmic model would be appropriate to model this relationship. Enter
the data into your calculator.

Twe povqmﬁm devun seens o inugast witnout loostine

as mL ity ST deureases tb 0. e asymphnc behayior y
A veflecte
and e gowal paktern of WL oMy valueg resembles o et

b. Find the logarithmic regression model, where x is the city size, and y is the populatio

density. ,

Y =3749.43 — L4d1.3¥2 In ¥

c. What is the population density, to the nearest person, predicted by the logarithmic
model for a city of 200 square miles?
W= 200 SqUuant nmyles |
0 = 300 people per SAUWAC nulf
d. Calculate the residual for the city of 200 square miles. Does the model give an
overestimate or an underestimate for the true population density for a city of size 200
square miles? Write a sentence to explain.

Covedicktd = 400 - 309 =91 peop /i .
achwal -pre 1 P afon. dengiig
T wwdel l

preghimares g twe  popula ,
i v%‘ﬁ per @uare WiLe A “Math '
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Problem Set C

After a pollutant is released in a natural environment, it undergoes a process of degradation
and decomposition, causing the concentration of the pollutant to decrease over time. This
decay can be modeled by an exponential function. The table provides data for the pollutant
concentration (in parts per million, ppm) in a body of water in the seven days following a
pollution incident.

Days

Pollutant Concentration (ppm)

10

8.5

7

5.5

4

3

2.5

Nl h~lWINI—O

2

Identify the independent and dependent variable. Enter the data into your calculator.

independent : Days since polluhion” in cid et
Dependent: rollubant concomhamhon (\orm )

b. Find an exponential regression model for this data, where x is the number of days since

the pollution incident, and y is the pollution concentration.

~ ¥
J=10.2¥3€(0511)

What does the model predict will be the pollutant concentration after 3 days?

X =3
§ 7 5.48T ppm

Calculate the residual for x = 3. Does the model give an overestimate or an
underestimate for the true pollutant concentration after 3 days? Write a sentence to

explain.

ac\'vun\'\o

redickd =5.5-%54€1 ~ 0.0l% PP

T wodel wadereshimates WL fvue ?O\Mmm Concembrah 2N

after 3 doys wﬁ 0.01% ppm.
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Problem Set D

Traffic patterns are heavily influenced by the time of day. The Federal Highway Administration
collects data on the Annual Average Daily Truck Traffic (AADTT) for a particular stretch of
road. Selections of this data are displayed in the table below. The input variable represents
the xth hour of the day (x = 1 represents the first hour of the day, between 12:00 AM and
1:00 AM, x = 2 represents the second hour of the day, between 1:00 AM and 2:00 AM, etc.).
The output variable, y, is the number of trucks that cross a certain stretch of road in that hour,
known as the Hourly AADTT. Truck traffic is monitored and collected over one whole year and
then averaged to create the values given in the table.

X y
1 3 125‘t
a
3 12 100{S .o
4 16 £ °®
5 25 15/ oee? | o
8 68 i 'Y
10 76 50 .‘
[ ]
11 78
o
13 98 s . .
15 86 ° ®
18 78 - "T .
of 3 6 9 12 15 18 21 24
20 52 Hours
21 54 \J
24 10

a. Explain why a sinusoidal model would be appropriate to model this relationship. Then

enter the data into your calculator. . X
™Me fraffic patrern rePreS&nl’s cyclical  welaavior Snat

Will vepedt  DUGNLY every 24 Wowvg
b. Find the sinusoidal regression model where x is the hour of the day and y is the hourly

AADTT. J 7 454531 sin (F13%-1UIb4) £ 484204

c. What is the hourly AADTT, to the nearest truck, predicted by the sinusoidal model for
the time between 8 PM and 9 PM? %X = 2.\

Y =45 hucks

d. Calculate the residual for the value found in part b. Does the model give an

overestimate or an underestimate for the true hourly AADTT between 8 PM and 9 PM?
Write a sentence to explain.

ackhual - prmcouol: 54— 45 =4 PUdLS | a
™ML wodel wnderesiimatbes e twle \/\owuj nvafR befween

9 ool A tucles. .
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